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Jo wants to buy a ball. The cost of the ball is 15p. Find all possible ways in which Jo can pay for the ball.



	

Make 14p using the fewest number of coins.



	
How many 10p coins are there in £2.50?



	
How many 50p coins are needed to make £2 ?
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Squirrels Maths - Year 2 






Year 1 

Use real sticks/stones or your toys at home (lego pieces/marbles/beads) to build the numbers up to 50. 
Challenge 
	1.
	Can you arrange them in 2s? How many groups will you have if you arrange 20 objects in 2s?
Can you arrange them in 5s? How many groups will you have if you arrange 20 objects in 5s?
Can you arrange them in 10s? How many groups will you have if you arrange 20 objects in 10s?


	2.
	How many groups will you have if you arranged 50 objects in 2s?
How many groups will you have if you arranged 50 objects in 5s?
[bookmark: _GoBack]How many groups will you have if you arranged 50 objects in 10s?


	3.
	Can you write the next 3 numbers in the sequence?
14, 16, 18 ___, ___, ____
30, 35, 40, ___, ____, ____
70, 60, 50, ____, ____, ____
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